Day 05. Summarizing Listening Arguments

Lesson Outline
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Learning Strategies

Template

(1) X2 Fg HX 27|

> Intro
The reading and the lecture both talk about X210} Zo|xlo] ZE Topic . The
reading says that X|29] HMN| FE0 ol Etol= Topic Sentence . However,
the lecturer argues that Zro|Xlo] MM FEo] sjStol= Topic Sentence

> Body 1
Firstly, the reading states that X|29] FZH0] olfEtst= Topic Sentence
On the contrary, the lecturer disagrees with this statement. He or She (= The speaker / The
lecturer) states (= argues / contends / asserts / says) that Zo|XIo| FEo] s Est=
Topic Sentence @ .(+ Olg / oA 7/ Ha} / 2 ZF)

> Body 2
Secondly, in the reading, the author argues that X| 29| FEH0| olfltst= Topic
Sentence @ . In contrast, the lecturer makes an opposing point to this claim. The
opposing point is that Zo|Xto] F=&o] s=st= Topic Sentence @ .(+ O]
T/ 0Al /7 23/ 2% EF)




> Body 3

Thirdly, the reading goes on to say that X| 29| X0 offEtst= Topic Sentence
® . However, the lecturer contradicts this opinion, arguing that ZHolX}o| F
0| s§=5li= Topic Sentence @ (+ Ol / OlA] / ZEat / 2% 2% )

(2) ZOARIS| F BX 7]

> Intro
The reading and the lecture both talk about X210} Zo|xto] ZE Topic . The
reading says that X|29] HMN| FE0 ol Etol= Topic Sentence . However,
the lecturer argues that Zto|Xlo] MM FEo] sjtol= Topic Sentence

> Body 1
Firstly, the lecturer says (= contends / asserts / states) that X Hpj ZHo|X}Oo] Topic
Sentence @ . This contradicts the statement in the reading that A HEy X2
9] Topic Sentence @ . (According to the lecture, Zo|Xto] MIE Abst
(Details) J(+ Ol /oAl / Hut / 8% BF)

> Body 2
Secondly, the lecturer contends that = K Zto]X}o] Topic Sentence @
This refutes the reading’s claim that £ Ky X|29] Topic Sentence @ . (The

lecturer explains that ZFo|xto] M A}gt (Details) ) (+ 0|8 /oAl / ZHa}

/ 2% 2%)

> Body 3
Thirdly, the lecturer asserts that M| Hmjo| Zto|X}o| Topic Sentence ® . This
casts doubt on the reading, which states that M| HEj X|29°] Topic Sentence
® . (The lecturer claims that ZHo|Xto] M|E AbSt (details) ) (+ 0§

/ GlAl 7 23k / 8% &7 )




(3) FFO| ChS SWA BF FA|

@ O|fE HHF= &%

Zo|xto| FHoj st O|RE BHAFE FH

Zo|xto| FHoj st o|fFE BHHFE FH

- This is because
- The reason for this is that

<O|#7} & 7i oj& uf>

Fhisis-because ___ O|R2 HOFE 22X @  because __ O|RE HOFE 2% @
= According to the lecture, 0|9 & HOFTE E% @ because 0|LE HOFE= 22X ).
= In his(= her) opinion, 0|8 HO|FE X ® because O|RE HOFE EH
@ F ¥ Fgot= 2%

- He goes further and says that Zo|xto| £ Hy FHZ HOFE &8

- He goes on to explain that Zojxto| £ HN FHZ HoFE 2
® OAIE HoFEE 2%

- For example, zZto|xfo| FXEt0) Cist OJAS HOIFE BX

- As an example, the lecturer explains that ZEO|X}o| FE0f| CHSH GIAIE HO{FE= 2%

- As an example, the lecturer mentions(= points to) _ O|A| & EOF= HAL ME{F

(+ Ao sl 28sts 28)

- The lecturer takes _ GA|E HO{FE HAL MTFO{T  as an example. (+ HALO| CHsl M

ot 23)

- The lecturer supports his (or her) point by giving an example. ZtQ|X}o| FZtof| CHSH GA|E

HolFE 2%




@ X0 Chell Eetst=s 2

- The lecturer casts doubt on the reading’s claim that _ X| 2] F%t (Topic Sentence)

- The lecturer disagrees with the statement in the reading that _ X| 22| F%t (TS)

- The lecturer contradicts(= refutes) the reading, which states that _ X|&2| F%t (TS)

- The lecturer makes an opposing point to the reading’s claim that _ X|&2| F% (TS)

- This means that ZoXte| FES o= 2%
- Thus, the lecturer concludes that ZoXIo| FE=2 Qo4st= 2%
- Therefore, the lecturer argues that ZoJXte| FE2 otst= 2%
- For this reason, the lecturer comes to the conclusion that Zo|Xto| Fi2 Qs
2%
Practice 1

Reading Passage

Intro

Many people think that increasing energy prices is the most effective way to save limited
sources of energy. They believe that if gasoline prices increase because of a rise in gas taxes,
gasoline can be conserved. However, the policy of increasing gas taxes cannot be a solution to
saving energy, especially gasoline. There are several reasons why this policy is inefficient and

problematic.

Body 1

Firstly, one reason why this policy is inefficient is that people will not stop consuming
gasoline even if gasoline prices increase. For example, even if the government raises the prices of
cigarettes from $2 to $4, a 100% increase, smokers who cannot find a substitute for cigarettes will
not reduce the consumption of cigarettes by 100%. Likewise, no matter how much gasoline prices

increase, people will not give up using energy.

Body 2
Secondly, increasing gas taxes can put a financial burden on people. In particular, this
increase may burden poor families that live in outskirts of the city because of high housing prices.

The families have to commute to work by car, so they would have to spend too much money on
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buying gasoline if prices of gasoline increased.

Body 3

Instead of imposing higher taxes on the use of gasoline, governments should make car
manufacturers develop cars using less gasoline, such as hybrid electric vehicles that can be
operated partially by electricity. Without raising the prices of gasoline, governments can easily
achieve their goal of conserving gasoline. Governments can be free from the complaints of tax
payers, the majority of people, by getting the minority of people, car makers, to develop more

fuel-efficient cars.

Lecture

Lecture script
I know many people assume that high gasoline prices caused by a gas tax increase cannot make
energy consumers restrain themselves from using gas. But, in reality, this policy of increasing gas

taxes is greatly helpful in saving gasoline. I will explain to you why this policy is efficient.

First, people will reduce the consumption of gasoline. The reading mentions cigarette prices to
support the idea that if there were nothing to replace cigarettes, people still would not reduce
consumption. But if it becomes too burdensome to constantly use expensive commodities, the
first thing people will do is attempt to use them economically. For example, people will not drive

their car to travel a short distance.

Well, T know many people live in outskirts because of skyrocketing housing prices. But, the

reading mentions the families who live in these areas use only private cars for commuting. But as
we all know, a well-developed public transportation system, such as buses, subways, and trains, is
available for people to use. Also, they can carpool as a means of reducing costs spent on gasoline.

Thus, this policy will not financially burden people.



In fact, increasing gas taxes is more efficient than encouraging car makers to develop more fuel-
efficient cars. This policy can accelerate the development of more fuel-efficient vehicles by
automakers because consumers will push car companies to develop those cars through a gradual
rise in the demand for the cars. Consumers will not buy cars that require a lot of gasoline because
of the tax burden. It is too burdensome for consumers to drive cars that use up a lot of gas. They
will demand fuel-efficient cars. This change in demand will end up making car companies rush to

develop loads of fuel-efficient cars.

Practice 2

o HBZEXolH QYLIstH AFZSO0| O3t CiX|XY(any substitute)

T &2 &+ g 7H&2l9 AH|(the consumption of gasoline)E ZO0|X| %2 ZA0|7| {ZO|LCt.

(T JNETY decrease: ZO|LC} / substitute for: ~2| CHA| XY

= This policy is inefficient because people will not decrease the consumption of gasoline for
which people cannot find any substitute.

@ Zo|xfo| ZFxk: OroF i 2]

S A8l ZO| 4R HEAI| EHCHH ALS =)
MEOoz AMBSL7| 9f8) A4S CHek 20| Chwil).

=
burdensome: & A2 / economically: AXHHESZ /try one’s best: X|MZ CtSICt

rlo

7t

>

o
= 4

= People will try their best to use gasoline economically if it becomes too burdensome to

use gasoline.

® Z2oAte| O|]/GAl: 252 EE 7E|(short distances)E& 2T SHA| %2 ZAO|Ct

= They will not drive short distances.

> Body 2

© X229 FEH/WE: FFAM(gas taxes)E 2ot A2 M HEE &2dt=(with long commutes)

=
747 (families) 0| Al X & Ql(financial) £ &S &L
increase: QIAFSICEH 22|Ct / put a burden on someone: ~0| A HEHS FCH
(= burden someone)

= Increasing gas taxes puts a financial burden on families with long commutes.
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Ol E&= H|&(costs)2 E0|7| {3 LiznSS 0|8t Ft=

reduce: ~& ZO|C} / carpool: 7+E S SIC}

= People will take public transportation and carpool to reduce costs spent on gasoline.

® ZolRtel AE: 0 HML ARSI ZR MYHY LS FX| %2 HO|Ck

= This policy will never put a financial burden on people.

> Body 3

@ Xzeo FZ/UE: 7IEEE EESY| 6 FRME =cle ALEL XSkt MZ=YApS(car
makers)| A O & TEEQ Xt=KHmore fuel-efficient cars)E J|LUSIEE He{st= 20|
o &85 o|c
conserve: ~& EZEGSICE / encourage S& 0] to do: ~Of|AH ~St=5 H2{S|Ct
= Encouraging car makers to develop more fuel-efficient cars is more efficient than

increasing gas taxes to conserve gasoline.

@ ZOo|Xto| FZEh: TioF =O M7} QELCHH XIS Kt M| ZEY XS (car manufacturers)2 Cf 98 28
Hol AHEAES BHE ZO0|Chwill),
Wi

= Car manufacturers will make more fuel-efficient cars if gas taxes increase.

@ 2ot O|7/MAl: &2HXAIS2 M5 FE(the tax burden) 0| 1 XSXSS 27 AO|

Ct.
demand: ~2 2 S}IC}

= Consumers will demand the cars because of the tax burden.
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= Increasing gas taxes is efficient in saving gasoline.



Practice 3

1 X290 L8 HX M= YEANS HSOH0| U W) HAL.

Sample Answer

Intro
The reading and the lecture both talk about whether or not increasing gas taxes is effective.
The reading says that there are three reasons why the policy of increasing gas taxes is inefficient

and problematic. However, the lecturer argues that this policy is efficient in saving gasoline.

Body1l

First of all, the reading states that this policy is inefficient because people will not decrease
the consumption of gasoline for which people cannot find any substitute. On the contrary, the
lecturer disagrees with this statement. He claims that people will try their best to use gasoline
economically if it becomes too burdensome to use gasoline. For example, they will not drive
short distances.

Body2

Next, in the reading, the author argues that increasing gas taxes puts a financial burden on
families with long commutes. In contrast, the lecturer makes an opposing point to this claim.
The opposing point is that people will take public transportation and carpool to reduce costs
spent on gasoline. For this reason, the lecturer comes to the conclusion that this policy will

never put a financial burden on people.

Body3

Finally, the reading goes on to say that encouraging car makers to develop more fuel-
efficient cars is more efficient than increasing gas taxes to conserve gasoline. However, the
lecturer contradicts this opinion, arguing that car manufacturers will make more fuel-efficient
cars if gas taxes increase. According to him, consumers will demand the cars because of the tax

burden. This means that increasing gas taxes is efficient in saving gasoline.
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(1) Zo|Xte| FE(topic sentence)S HX M= AL

Sample Answer

Intro
The reading and the lecture both talk about whether or not increasing gas taxes is effective.
The reading says that there are three reasons why the policy of increasing gas taxes is inefficient

and problematic. However, the lecturer argues that this policy is efficient in saving gasoline.

Body1l

First of all, the lecturer argues that the policy of increasing gas taxes is efficient because it
will decrease the consumption of gasoline. This contradicts the statement in the reading that
this policy is inefficient because people will not decrease the consumption of gasoline for which
people cannot find any substitute. According to the lecture, people will try their best to use
gasoline economically if it becomes too burdensome to use gasoline. For example, they will not
drive short distances.

Body2

Next, the lecturer contends that this policy will never put a financial burden on people. This
refutes the reading’s claim that increasing gas taxes puts a financial burden on families with long
commutes. As an example, the lecturer explains that people will take public transportation and
carpool to reduce costs spent on gasoline.

Body3

Finally, the lecturer states that increasing gas taxes is efficient in saving gasoline. This casts
doubt on the reading, which states that encouraging car makers to develop more fuel-efficient
cars is more efficient than increasing gas taxes to conserve gasoline. The lecturer argues that car
manufacturers will make more fuel-efficient cars if gas taxes increase. The reason for this is that

consumers will demand the cars because of the tax burden.




(2) XI22| FX(the reading’s claim)0 HHHBICH: EHS 2

rr
ox
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Sample Answer

Intro
The reading and the lecture both talk about whether or not increasing gas taxes is effective.
The reading says that there are three reasons why the policy of increasing gas taxes is inefficient

and problematic. However, the lecturer argues that this policy is efficient in saving gasoline.

Body1l

First of all, the lecturer disagrees with the statement in the reading that this policy is
inefficient because people will not decrease the consumption of gasoline for which people
cannot find any substitute. According to the lecture, people will try their best to use gasoline
economically if it becomes too burdensome to use gasoline. For example, they will not drive

short distances.

Body2

Next, the lecturer casts doubt on the reading’s claim that increasing gas taxes puts a financial
burden on families with long commutes. As an example, the lecturer explains that people will
take public transportation and carpool to reduce costs spent on gasoline. For this reason, the

lecturer comes to the conclusion that this policy will never put a financial burden on people.

Body3

Finally, the lecturer contradicts the reading, which states that encouraging car makers to
develop more fuel-efficient cars is more efficient than increasing gas taxes to conserve gasoline.
The lecturer argues that car manufacturers will make more fuel-efficient cars if gas taxes

increase. The reason for this is that consumers will demand the cars because of the tax burden.
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Common Mistakes

Reading Passage

One reason why the Natufians who inhabited Asia a
very long time ago moved from a hunter-gatherer society
to an agricultural society is population growth. As the
population size of the Natufians steadily increased, hunting
alone could not meet the food requirements of the
growing population. Eventually, this larger population
forced them to move to an agricultural society that was

able to feed the population.

Lecture

Lecture script

Well, it seems plausible that a sharp increase in
population required that more food be produced, so
farming was a necessary outcome. But the problem with
this theory is that population growth was not possible in
a society dependent on hunting and gathering. I mean a
hunting and gathering society could not generate food
surpluses. In this situation, population growth would
have been impossible. In addition, at the time, the
Natufians did not have any advanced methods of
irrigating fields. Without irrigation systems, growing

crops would also have been impossible.

11



Student Response

The lecturer argues that population growth
would have been impossible in a hunting and
gathering society where there were no food
surpluses. Also, the Natufians did not have any
advanced irrigation systems that are required to
grow crops. This counters the statement in the

reading that population growth caused the

Natufians to move to an agricultural society.

Sample Answer A (LCE WX £ AR)

The lecturer argues that population growth
cannot be a factor that made the Natufians
move to an agricultural society. This counters
the statement in the reading that population
growth is one of the reasons for their
movement to an agricultural society. According
to the lecture, population growth would have
been impossible in a hunting and gathering
society where there were no food surpluses. He
goes on to explain that the Natufians did not
have any advanced irrigation systems that are

needed to grow crops.

-

= Zto|o| FX|Z(topic sentence)S =S| MFXH
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Sample Answer B (RCE HX £ ZAL)

The reading states that population growth is
one of the reasons for the people’s movement
to an agricultural society. On the contrary, the
lecturer disagrees with this statement. He claims
that population growth would have been
impossible in a hunting and gathering society
where there were no food surpluses. He goes
on to explain that the Natufians did not have
any advanced irrigation systems that are needed
to grow crops. For these reasons, the lecturer
comes to the conclusion that population growth
could not have been a factor that made the

Natufians move to an agricultural society.

Grammar Tips

Point) CHEAS| 2245 23| XM

1. which

IT =
= 21015 MAESI= &, which ZA1tE LIEtL= SAf(result in, make, cause)

=
e.g. Global warming makes global temperature rise little by little, which results in global

famine and drought.

(2) MIMAO| CHSE =7 ™HE (extra-information)& F= 4%
= XA Oi&ef2 ESHA o172 25 282 B0iA MOof &

e.g. Alaska, which was purchased from Russia, became the 49™ state of the US.

1) o ¢ M, B2 t FAE CHusts THEA
e.g. Plagiarism is considered criminal behavior in foreign countries. However, it is regarded as

condonable in my country.
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(2) O0| &9 =58 7| ¢ ‘this/these + HAFZ A X}H

e.g. [ would easily learn how to work in sales, in shipping, or in any department a large
company possesses. It (= These various work experiences) can help me handle any type

of work given to me.

3. this
= this + Ak 71 Bt #H / OS5 A8 7hs
e.g. Global warming makes global temperature rise little by little, which results in global

famine and drought.

= Global warming makes global temperature rise little by little. This (gradual) increase results

in global famine and drought.

= Global warming makes global temperature rise little by little. This results in global famine

and drought.

Check-Up Dirills

Sample

Ttef W|7F BHE AMES (others)ap 27H USHCHEH, O[A0| HE A2E2A =X EECHmay).

= If you work together with others, this may make you lazy.

Brop L7k UsEALE olgely| Yol 192 #ICHE, Li: 23 Soj@ften 49 22 IF
(studies)Of| EZ=A|Z % (O] A2) CHEtO Al (in college) M=ot A& (bad performance)2 7t

ML} (which AMR)

Erand

l

= If you take a year off to work or travel, you cannot concentrate your efforts on studies
after returning to school, which results in bad performance in college.
14



Practice 01

Reading Passage|
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UCE.

Many people think that increasing energy prices is
the most effective way to save limited sources of
energy. They believe that if gasoline prices increase
because of a rise in gas taxes, gasoline can be
conserved. However, the policy of increasing gas
taxes cannot be a solution to saving energy,
especially gasoline. There are several reasons why
this policy is inefficient and problematic.

Firstly, one reason why this policy is inefficient is
that people will not stop consuming gasoline even
if gasoline prices increase. For example, even if the
government raises the prices of cigarettes from $2
to $4, a 100% increase, smokers who cannot find a
substitute for cigarettes will not reduce the
consumption of cigarettes by 100%. Likewise, no
matter how much gasoline prices increase, people

will not give up using energy.

Secondly, increasing gas taxes can put a financial
burden on people. In particular, this increase may
burden poor families that live in outskirts of the
city because of high housing prices. The families
have to commute to work by car, so they would
have to spend too much money on buying
gasoline if prices of gasoline increased.

Instead of imposing higher taxes on the use of
gasoline, governments should make car
manufacturers develop cars using less gasoline,
such as hybrid electric vehicles that can be
operated partially by electricity. Without raising
the prices of gasoline, governments can easily
achieve their goal of conserving gasoline.
Governments can be free from the complaints of
tax payers, the majority of people, by getting the
minority of people, car makers, to develop more
fuel-efficient cars.
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EE
effective 2 01AQl, AEMOl | limited X3tE, 3P = | gas tax TRA|, AR

conserve ~= EZESICE | inefficient HEE&XQ | problematic 247t &= 28HE 27|
likewise 0|2} OfXt7}X|2, O|Q} Z0| | no matter how much 0r= 7H0j|, YOtE AES10|

give up V-ing ~8t= S ZI|sCh ABHECE

put a burden on someone ~0j| | 252 FCt ( =burden someone) | outskirts w?|, HE2|
housing price & 7f | commute E235ICt | impose 2utsiCt T sICt

hybrid electric vehicle }0|E2|E ™7| AtsXt | partially 22522 | complaint 4, =0
tax payer ZAXt, M2 HEX | the majority of Ct4=0| |  the minority of 259
fuel-efficient ¢H|7} =2

Lecture Script|

L= Qle AIZRE0| QM QMo =z 0f7|E &2 I know many people assume that high gasoline
&2l JFAHO0| oY X| AH|IXIER Sl0j2 982 prices caused by a gas tax increase cannot make
AH|StE AS AASIEE BtE == 8iS energy consumers restrain themselves from using
0|2t FHoiCte & QHCh SHX|t gas. But, in reality, this policy of increasing gas
HAMOoZ FOME 22|= 0] HMLE &2 taxes is greatly helpful in saving gasoline. I will
HMoksteh O 2 =&20| =ICk LH7F o] ™*40| explain to you why this policy is efficient.

ef EXHAXIE OHZ A 2B

MR ZE, AfEHE2 7t&8l AH|IE &9 AOo|C) First, people will reduce the consumption of
X|Z2 Qrek SHHiE CHAE 40| OFR A= gasoline. The reading mentions cigarette prices to
QloM, AlIZ2HEE OfX3| AHIE ZO0|X| &S support the idea that if there were nothing to
Ho|gt= Mzig SigbERl 81| Q8 EHHi7tHdE replace cigarettes, people still would not reduce
AGSIC} SFX|OF Otk X|&£XMOoZ HIM MES consumption. But if it becomes too burdensome
AI8%t= HE BEEARQXH, AFRIEO| & A to constantly use expensive commodities, the first
HE| 22 0458 ANAHSE A28 thing people will do is attempt to use them

L 3H5l= Z{0|C}. O|E ST, AEEL T2 economically. For example, people will not drive
2|2 0|53817] QA= A5 K2 22X U2 their car to travel a short distance.

20|}

ZH|, L= T2 AIZIE0| X|2= I 20 Well, I know many people live in outskirts because
Q| X0 A QL= AtAS OtCt SFX|GH of skyrocketing housing prices. But, the reading
X2 0| X0 At= AIZIEQ| E2E €9 mentions the families who live in these areas use
QEZX| AZHERE O|EStCtn okt 2Lt only private cars for commuting. But as we all
22| D5 UCtA|O], HA L} X|SHHE, 7|Xiet &2 know, a well-developed public transportation

A HEtE| [ D E A|ME AIZE0| 0|8 system, such as buses, subways, and trains, is
7tsSICE BB OS2 7HEEI0 AFRE s HE2ES available for people to use. Also, they can carpool
EH0|le $htoz FIES & £ ULt [M2kA O] as a means of reducing costs spent on gasoline.
HHEe MEHMoZ AEUA £EHS FX &%= Thus, this policy will not financially burden people.
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Zolct

AMAlL =L Mo QIA0] REsAF HIRYUXISNHA o In fact, increasing gas taxes is more efficient than
AH|7} 2L KISAIE J|HSIEE REst= encouraging car makers to develop more fuel-
HAECH S 8XO0|Ct O] MM AH|XEO <Q|s) efficient cars. This policy can accelerate the
O3 Xto| £Q7 MXMoz =715t X=Xt development of more fuel-efficient vehicles by
SIAIR SI0j2 O ¢H|7} £ X2 |l E automakers because consumers will push car
2Q3st Z{0|7| 20| AH|7} £EL Ko 7S companies to develop those cars through a
7t£31st Z0|CH AHIXER2 M35 [[H—'?—Oﬂ gradual rise in the demand for the cars.
7h&Rlg B0l EQE St XS AMA| & Consumers will not buy cars that require a lot of
Z0|Ct AHIAFEYA e dERE iﬂléff gasoline because of the tax burden. It is too
AE52 2 42 4R RYHAHO 52 burdensome for consumers to drive cars that use
A7} E2 AEAES ZoZ T Ao|Ch up a lot of gas. They will demand fuel-efficient
o|2{st =R29| H3l= AtSXt JAEZ S0 cars. This change in demand will end up making
GH|7} £ £Qe KES JYSIEE QtEL= car companies rush to develop loads of fuel-
AE 7142 AHo|Ct efficient cars.
EE

assume 7}ASICH =XSICt | restrain XFH|SICF | burdensome 0| E|=, HoiAp e

commodity 2422 ME | attempt =-=SICt A|ESICE | economically AXAHO 2

skyrocketing X|Z==, 545| 57t6l= | well-developed % ZE = | public transportation system Cj

T us HA

carpool 7}Z2& oiCt | accelerate 7t£351SIC | gradual AAFAQL HZRIAMOI | rush MFEC}

loads of B2, +Ri2

Practice 03

X230 2o & BE FTE/ME QM= Z0| The reading and the lecture both talk about

SOt™OIX| Ot X|of 2tsf RSt ULCH X222 whether or not increasing gas taxes is effective.
ZTONE 22|= MMO| o H|EE8Xo|1 EXE The reading says that there are three reasons why
=X M ZtX| O|87t QUL st the policy of increasing gas taxes is inefficient and
SHX|2F, Zo|XH= O] ™A0| 7t&ElE M= O problematic. However, the lecturer argues that this
sedo|gtn FEsHCH policy is efficient in saving gasoline.

M, X|20A O] Y2 JtEEIo| oftst First of all, the reading states that this policy is
CHAIRHE &S 4= Q1710 D49 AHl&= E0{EX] inefficient because people will not decrease the
s Zi0|E2 H|ZeXolztn LIl HHHO, consumption of gasoline for which people cannot
ZOo|Xt= O F=TO| SO|slX| §U=Ct O DHef find any substitute. On the contrary, the lecturer
tEElE AM8%te A0 UFE REAEA [H disagrees with this statement. He claims that
AZEE2 J1E2E8 TSR AFRE7| 8l people will try their best to use gasoline
X ME CHer Zdo|2t FRsiCE & 28, A2 economically if it becomes too burdensome to use
T2 7HElE 25| %2 Ao|Ct gasoline. For example, they will not drive short
distances.
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MES0| 7t&EI0 E= HES 20|7| I
HELES 0183t 7kE2 & AO0l2k= HOICh.

O|2{gt OlF =0, Z2fxt= 0] MOl

Ox|gtez, X|22 AHiM 7tEEs
ol FRME 22l= ALLH XASKE
Mz=YAS0l O ABZ7F F2 ASKE
WESH=E Fefots A0l EH 2EX0[2tn
oot 2L ZofAhs ef FRAMt 22H
AHESA ME=EAE2 o

2E5

2= Ao|2tn FYOIEAM O|2fet o|HS
grerstot. o Wed, AHXE2 Me 78
WEol d2iet ASkES 27 Aol o|A2
FRME 22l A0l 7tEE S Eofts O

sgHojate 2ig ojnjsict.

Next, in the reading, the author argues that
increasing gas taxes puts a financial burden on
families with long commutes. In contrast, the
lecturer makes an opposing point to this claim.
The opposing point is that people will take public
transportation and carpool to reduce costs spent
on gasoline. For this reason, the lecturer comes to
the conclusion that this policy will never put a
financial burden on people.

Finally, the reading goes on to say that
encouraging car makers to develop more fuel-
efficient cars is more efficient than increasing gas
taxes to conserve gasoline. However, the lecturer
contradicts this opinion, arguing that car
manufacturers will make more fuel-efficient cars if
gas taxes increase. According to him, consumers
will demand the cars because of the tax burden.
This means that increasing gas taxes is efficient in
saving gasoline.

2. (1) Sample Answe

=
SHA|Z, Zoxt= O] gMo| 7t&els Eoshes O

EEE e )

—

oN
10
>

7ME 2cl= 3H0| 7t&Ele

ol

F4, = 4

2HE € A017| 20 =2&H0[2tn
FICE O] A2 O] ‘EHO| AMRHS0[ Ofte gt
A= He = Sle 7tEEle 288 FE0IX|
Es A07| W=o H=EX0|2ts X|Z22
TS deetch Zolof 2, JtEels
AM83t= A0 HF FEAREA EE MES2
&S Y2z Argot| Qs e cr
Aotk o 2% 152 #H2 H2lE 2K
s Aot

The reading and the lecture both talk about
whether or not increasing gas taxes is effective.
The reading says that there are three reasons why
the policy of increasing gas taxes is inefficient and
problematic. However, the lecturer argues that this
policy is efficient in saving gasoline.

First of all, the lecturer argues that the policy of
increasing gas taxes is efficient because it will
decrease the consumption of gasoline. This
contradicts the statement in the reading that this
policy is inefficient because people will not
decrease the consumption of gasoline for which
people cannot find any substitute. According to
the lecture, people will try their best to use
gasoline economically if it becomes too
burdensome to use gasoline. For example, they
will not drive short distances.
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CHE, 22Xt O] FH™MO| At EoA 22 Next, the lecturer contends that this policy will
MEAOl HELE FX| &S AHo|2tn FHBHC} never put a financial burden on people. This
O|A2 FIME QAsI= Ao| H HE|E refutes the reading’s claim that increasing gas
S35t J7E0A MEXQl HENS Tt taxes puts a financial burden on families with long
K29 FZE dHHISiCE St 0| 2A, Zo|Xt= commutes. As an example, the lecturer explains
AFREE 0| 7H& 20| E= HIE2E 0|7 QI8 that people will take public transportation and
Q=1 ES 0|25t 7IES & Ao|2tn carpool to reduce costs spent on gasoline.
Lyt

Ofx|gto 2, Zo|X= FTOME 22|= ZHO| Finally, the lecturer states that increasing gas taxes
7b&Rlg MesteE O E8X0|2tn DSkLt is efficient in saving gasoline. This casts doubt on
O|HE 7I&Elg EXE7| Qo) TRME 22| the reading, which states that encouraging car
HHCF AFsk} I X2YXIS0| o AH|7 £& makers to develop more fuel-efficient cars is more
AIsKE HLSIEE Eaddt= Z40| O efficient than increasing gas taxes to conserve
ZeXo|2tn Ysl= K20 o2S H|7|stCh gasoline. The lecturer argues that car

UOo|Xte F/M7I LEH X5 HEXXEL manufacturers will make more fuel-efficient cars if
o H[7l &2 XSKE THE Aol2tn FETCL gas taxes increase. The reason for this is that
0|9 &= AHIXIEE M BB =0 O consumers will demand the cars because of the
AHSAES /g A0|7| WEo|Ct tax burden.

X219 49 & 25 [ A8H= Z40] The reading and the lecture both talk about
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whether or not increasing gas taxes is effective.

The reading says that there are three reasons why
the policy of increasing gas taxes is inefficient and
problematic. However, the lecturer argues that this

policy is efficient in saving gasoline.

First of all, the lecturer disagrees with the
statement in the reading that this policy is
inefficient because people will not decrease the
consumption of gasoline for which people cannot
find any substitute. According to the lecture,
people will try their best to use gasoline
economically if it becomes too burdensome to use
gasoline. For example, they will not drive short
distances.

Next, the lecturer casts doubt on the reading's
claim that increasing gas taxes puts a financial
burden on families with long commutes. As an
example, the lecturer explains that people will take
public transportation and carpool to reduce costs
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spent on gasoline. For this reason, the lecturer
comes to the conclusion that this policy will never
put a financial burden on people.

Finally, the lecturer contradicts the reading, which
states that encouraging car makers to develop
more fuel-efficient cars is more efficient than
increasing gas taxes to conserve gasoline. The
lecturer argues that car manufacturers will make
more fuel-efficient cars if gas taxes increase. The
reason for this is that consumers will demand the
cars because of the tax burden.

Common Mistakes

Reading Passage|

of

TE7L RES| STk et gt
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gioich 22 ofast

One reason why the Natufians who inhabited Asia
a very long time ago moved from a hunter-
gatherer society to an agricultural society is
population growth. As the population size of the
Natufians steadily increased, hunting alone could
not meet the food requirements of the growing
population. Eventually, this larger population
forced them to move to an agricultural society that
was able to feed the population.

#

inhabit ~0f 4Ct | move from A to B A0|A| B2 O|S3ICH AO|A BZ KA ZtCt | hunter-gatherer
society =& X{& Atz| | agricultural society =2 At%| | population growth 2151 A% | steadily
R=S | meet SFA|Z|CH BEA|IZICE | food requirements A2k =9 | feed ~2 HO|Ct

Lecture Script|

2N, Q17| 2AsH ZII7F O e Alzko)

S A
diE 2RR oM, S0l BNl At
AME2 Efgeh AN E22ICh SEX| 2 0] 0|22
=M= = a YO o[ESH= Ate[ofAf 2+
g2 7tse A0l oL RUCH= oLt 2L 7t
THI MY Alzls 0] AEE Be
BACH= AO|Ct of2fst &0, 21+ 982
=7tsE A0k ACHZE 3 Al
LIEZQIS2 STo| 2HE & ofmst e
Y= ZHXD AKX HRACE 2 AE0] §lol=

Well, it seems plausible that a sharp increase in
population required that more food be produced,
so farming was a necessary outcome. But the
problem with this theory is that population growth
was not possible in a society dependent on
hunting and gathering. I mean a hunting and
gathering society could not generate food
surpluses. In this situation, population growth
would have been impossible. In addition, at the
time, the Natufians did not have any advanced
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methods of irrigating fields. Without irrigation
systems, growing crops would also have been
impossible.

plausible 12 =%t | outcome Z1t | dependenton ~0| 2|=sl= | food surplus A0 AlZf

advanced 2EtEl 2™ El | irrigate == CHCH 2H7HSICE | irrigation system ZH7| Al A
ZoxtE QT MZEO| LIEZQES 58 ASZ The lecturer argues that population growth cannot
O|=3tA gtE Q9lo| & £ gictn FESICH be a factor that made the Natufians move to an
O|AdLe Q7 MZ0| &9 =Y Atg|29| 0|=0 agricultural society. This counters the statement in
st 0|85 = dtLigtn 3= X299 FEE the reading that population growth is one of the
gtursich Zbolof 2™, ol HE2 Ao reasons for their movement to an agricultural
Algfo| Qe =8 MMAE AR0A= E7ts3ls society. According to the lecture, population
Z0|Ct. O&= § LIOt7} LtEZOIZ0| 2 ES growth would have been impossible in a hunting
712 4 st Of[fst WLt By A|HS and gathering society where there were no food
JHX|D QUX| QLUQUCHT M IHSICH surpluses. He goes on to explain that the

Natufians did not have any advanced irrigation
m systems that are needed to grow crops.

factor 24, 90l
22 o7 A0 O AMEFHE9 58 Atz|Z29 The reading states that population growth is one
0|50 CHt OlRE & ottty Zstot 2HHHO, of the reasons for the people’s movement to an
Zo|XtE O FHO| s2|oHX| Y=Lt = o4 agricultural society. On the contrary, the lecturer
A0l A A0 gl =& ME At=|0AM disagrees with this statement. He claims that
27lsMe Zo|2tn FRSiCE O= O LIop7t population growth would have been impossible in
LIEZQE2 AE=2 7|25 O 283 ot a hunting and gathering society where there were
HELE BN AIEE XD QX F/UCHD no food surpluses. He goes on to explain that the
A HSICE Ol OlgE M0, ZoXt= o1+ Natufians did not have any advanced irrigation
G2 LIREZQIEE 503 59 A2 systems that are needed to grow crops. For these
O| =5l 2tE Q00| 2 & gAS Zolztn reasons, the lecturer comes to the conclusion that
ZEANE=LL population growth could not have been a factor

that made the Natufians move to an agricultural
m society.
come to the conclusion Z=2& L|2|Ct, Z=ZXICt
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